£ 541383 DBS

BB ERRE
—OZR&E—HBZH B %
LB Rl —RFER BELE et
_22 —R B 0.655
—R B 0.705
BHEE 0.010
HEp 0.785
EEu 0.785
. HIREEEH N 0.785
= 0.705 SHAZBEAML0S
Ll = RE L 0.725 HE#Z&#5E1008 M E ~ KXm3008
& =oEeE 0.805 HH#28r%83008 1 £ ~ 5008 ( =)
3 0.705 EHHZRREEE5008 M EAED
= 0.705 EHHZLRREARMI00E
= 50445% 0.725 AH#82E1008 L1 F ~ *m3008
0.805 SHHAEE3008 L
0.705 EHHZLRREARMI00E
SR SE 0.725 HH#A&8rZ81008 L F ~ Km3008
(RIEHHER) 0.805 HH#28r%83008 1 £ ~ 5008 ( =)
0.705 FHHHZRREEE5008 U FED
ez &l —RFEAR REEEFEH (EFHRESETUL)
AR EE BELE B Ef BELE EE BELE B Ef BELE
—@EB 1.225 1.225 0.360 0.350
RE)E 1.235 1.225 0.360 0.350
] 1.285 1.225 0.380 0.370
IEE 1.285 1.225 0.380 0.370
N A 1.285 1.225 0.380 0.370
< ANEB 1.395 1335 0.400 0.390
5 +EA 1.395 1.335 0.400 0.390
= IREE 1.395 1335 0.400 0.390
= JRELE] 1.425 1.465 0.430 0.410
+EA 1.425 1.465 0.430 0.410
+—E8 1.425 1.465 0.430 0.410
—FH 1.650 1.585 0.450 0.430
+=1E3 1.650 1.585 0.450 0.430
—FHf 1.650 1.595 0.470 0.450
—FH 1.650 1.605 0.500 0.480
—FHf 1.705 1.705 0.470 0.450
1 +=1EH 1.685 1.685 0.470 0.450
s + &8 1.685 1.685 0.470 0.450
2 +\BEA 1.685 1.685 0.470 0.450
» — FHf 1.685 1.685 0.490 0.470
— 1 1.685 1.685 0.510 0.490
NI GIES = BEEAE + 3.281%
EERGAAR 4919
FERIES W 1.740
FERIESSE 1.740
[ TARHESR: | TARH (EAER) 1.680
TR EE 20 1.680

1 AAEEE2025F1E2HREE - NAZ IR TS A EBE -
ERTEEEERTHIZESERIRE  BEEBRERE U A0S ZHHREETES  BR—FHEHRE
FRARGE  BEREGFIANERSERAS L EAHEE—BE8T (2 )  BEZREZESLL "T—H%

2~

3
4
5
6 N
7
8
9

EHREETS L MREE - LB B RER BT IRTEHE(

HREFREABERZ -

* NCDBTEEMRTAMEIE -
» TR ERGIRE(4.919%) =P RIRTERIRZR(2.000%) + —ELLE(2.919%) -
~ RITEARPRAER(8.200%) =B %) % (4.919%) + B E MNHE(3.281%)

ERBESEFFERTER(ENCD)FERERE -

- ERFARIIEA R Z F R KB ER BURIZRET -
© TEMFRBHI L
- TERMERBHI, -

'TREHESERS | TREH (EHER) .
"TERRBIEEZFH .

R/=

MRTREERIRFZER - #EMS045EE

. B—ERBE—X

- B=EAREE—R-

10~ XTEMHEE—REMRERERENR (RREFHEST )  FERRREESFRESEP -

11 EMENEERKBEPEBERES

= 42
=

RGTSFI AT Z I8 E RIFHRZE -




